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H$$18%W = TC/HM

LxWxTrrm ""'. ""'. "".
211<16.3 KC0216HSl ~.= KCml6TC

eo.16.3 KC0616HSl ~.= ~.=

70.16.3 l<C0716HSl 1<C0111lST2 KO:I716TC

80.16.3 Kalel6HSl KCOel6ST2 ~.=

HXh16.3 KCl011'1HSl KC1016ST2 KC1016TC

110.16.3 KCll1l1HSl KCl116ST2 KC1116TC

13(.. 16.3 KC1311'iHS1 KC1316ST2 KC1316TC

150.16.3 KCl~l6HSl KCl~lIlST2 KC15HlTC

100,,0,3 KC1611lHS' 1«;,61130$12 KC1616TC

170.16.3 KC171f1-1S1 KC1716ST2 KC1716TC

113(1)16.3 KC16115H$1 K(;1616ST2 Ke1815TC

200.16.3 KC2()l6HSl ~.= ~.=

2111<16.3 KC2116HSl KC2111lST2 KC2116TC

220"8.3 KC2211lHSl l<CZ2l1lST2 KC2IlHlTC

230.16.3 KCZll6H81 KC2311lST2 =.=
2-10"6.3 KC2.'6HSl KC2.161m! KC2.16TC

2fJOx16.3 KC25115H$1 KC2516ST2 KC2516TC

2llOx16x3 KC2616HSl KC2616ST2 KC26161C

VOx 16.3 KC2716HSl =.= KC:l716TC

28,",6. 3 l(C2816HSl =.= KC2816TC

290"6>3 KC2916HSl KC2\I16ST2 KC291eTC

310"6'3 KC:l116HSl KC3116ST2 KC3116TC

3I'lOx16x3 ~l6HSl KC:lf!16$T2 ,,,.,,=
4Ii(I.,6.3 KCII; 11!1HS1 ~.= ~l6TC

OM.16.3 +<C4816HSl KCl616ST2 KC461eTC

000,,6,3 KC6516HSl Kce616ST2 ~.=


